
Rocket Remainders

Solve each problem.
Interpret the remainder.

Manu is packing 78 ready-to-eat meals into boxes.

A box holds 5 meals. How many boxes will Manu fill completely?

boxes

Stig brings a bag of 45 cherries. He wants to divide the

cherries equally with the other members of the crew.

There are 4 people on the crew including Stig.

How many cherries will each crew member get?

cherries
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Klara brings a book to read on the mission. The book has 95 pages.

She plans to read 8 pages each day.

How many days will it take Klara to finish the book?

days

The crew needs 40 heavy-duty batteries. Batteries come in packs

of 6. How many packs of batteries do they need?

packs

The crew has 54 granola bars. They want to divide the granola bars

equally among the 4 people on the crew.

How many granola bars will be left?

granola bars

Sten is putting 60 air tanks in storage bins. Each storage bin can hold

7 air tanks.

How many storage bins does he need to hold all the air tanks?

storage bins


